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ÍÛæ̃ Û¶ÛÛ : (1) ›÷¾Û¨Ûà ©ÛÁõºõ¶ÛÛ …Û×ïõ¦øÛ •Ûä¨Û þùÉÛÛÙÈÛé ™öé. 
  (2) ÍÛÛþùÛ •Û¨Û¶ÛýÛ×ªÛ¶ÛÛé Š¸ÛýÛÛé•Û ïõÁõà ÉÛïõÛÉÛé. 
 
1. (…) …éïõ ÍÛ¾ÛÜÌ¤ø¶Ûé ªÛ¨Û Í©ÛÁõÛé¾ÛÛ× ÈÛÐêü˜ÛÈÛÛ¾ÛÛ× …ÛÈÛé ™öé. …¶Ûé ¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¾ÛÇé ™öé : 7 
  N1 = 25   S1

2 = 25 

  N2 = 45   S2
2 = 30 

  N3 = 30   S3
2 = 20 

  …Û Í©ÛÁõÛé¾ÛÛ× ýÛþù˜™ö Ü¶ÛþùÉÛÛë ¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé ¾ÛÇé ™öé : 
  ¸Ûó¬Û¾Û Í©ÛÁõ¾ÛÛ×¬Ûà : 12, 16, 18, 13, 11 
  ¼Ûà›Û Í©ÛÁõ¾ÛÛ×¬Ûà : 15, 16, 20, 20, 18, 25 
  ªÛà›Û Í©ÛÁõ¾ÛÛ×¬Ûà : 10, 12, 9, 11, 13 
  ©ÛÛé Í©ÛÜÁõ©Û ýÛ´ù˜™ö Ü¶ÛþùÉÛÙ¶ÛÛé ¾ÛµýÛïõ …¶Ûé ÜÈÛ˜ÛÁõ¨Û ÉÛÛéµÛÛé. 
      …¬ÛÈÛÛ 
  …éïõ ÍÛ¾ÛÜÌ¤ø¶ÛÛ …ÈÛÅÛÛéïõ¶ÛÛé¶Ûé ¼Ûé Í©ÛÁõÛé¾ÛÛ× ÈÛÐêü˜Û©ÛÛ× …ÈÛÅÛÛéïõ¶Û¶ÛÛé 20 …¶Ûé 30 ™öé. Í©ÛÁõÛé¾ÛÛ×¬Ûà 

ÅÛàµÛéÅÛÛ ýÛþù˜™ö Ü¶ÛþùÉÛÛë ¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé ™öé : 
  ¸Ûó¬Û¾Û Í©ÛÁõ¶ÛÛ× Ü¶ÛþùÉÛÛë : 12, 15, 18, 23 
  ¼Ûà›Û Í©ÛÁõ¶ÛÛ× Ü¶ÛþùÉÛÛë : 16, 20, 24, 25, 30 
  Í©ÛÜÁõ©Û ýÛþù˜™ö Ü¶ÛþùÉÛÙ¶ÛÛé ¾ÛµýÛïõ ÉÛÛéµÛÛé. 
 

 (¼Û) ÍÛ¾ÛÜÌ¤ø …¶Ûé Ü¶ÛþùÉÛÙ …é¤øÅÛé ÉÛä× ? ŠþùÛÐüÁõ¨Û ÍÛÜÐü©Û ÍÛ¾Û›ÛÈÛÛé. 4 
      …¬ÛÈÛÛ 
  5000 …éïõ¾ÛÛé¶Ûà ÍÛ¾ÛÜÌ¤ø ¾ÛÛ¤éø ÜÈÛ˜ÛÁõ¨Û 5580 ™öé. ©Ûé¾ÛÛ×¬Ûà 300 ïõþù¶ÛÛ ¸ÛäÁõÈÛ¨Ûà ÁõÜÐü©Û ÍÛÁõÇ 

Ü¶ÛþùÉÛÛë ÅÛéÈÛÛ¾ÛÛ× …ÛÈÛé ™öé. …Û ¸ÛÁõ¬Ûà ÍÛÁõÇ Ü¶ÛþùÉÛÙ ¾ÛµýÛïõ¶Ûä× ÜÈÛ˜ÛÁõ¨Û ¾ÛéÇÈÛÛé. 
 

 (ïõ) Ü¶ÛþùÉÛÙ¶ÛÛ ºõÛýÛþùÛ ›÷¨ÛÛÈÛÛé.  3 
      …¬ÛÈÛÛ 
  Í©ÛÜÁõ©Û Ü¶ÛþùÉÛÙ …é¤øÅÛé ÉÛä× ? ©Ûé¶Ûé îýÛÛÁéõ ¸ÛÍÛ×þù ïõÁõà ÉÛïõÛýÛ ? 
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2. (…) ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¾ÛÛ¤éø ÅÛÛÍ¸ÛéýÛÁõ, ¸ÛÛÉÛé …¶Ûé ÜºõÉÛÁõ¶ÛÛé ÍÛæ˜Ûïõ…Û×ïõ ÉÛÛéµÛÛé : 7 
1995 2005 

…ÛµÛÛÁõ ÈÛÌÛÙ ˜ÛÛÅÛä ÈÛÌÛÙ 
ÈÛÍ©Ûä 

Ýïõ¾Û©Û 
(` ¾ÛÛ×) 

›÷¬¬ÛÛé 
(Üïõ.•ÛóÛ.) 

Ýïõ¾Û©Û 
(` ¾ÛÛ×) 

›÷¬¬ÛÛé 
(Üïõ.•ÛóÛ.) 

A 20 8 40 6 
B 50 10 60 5 
C 40 15 50 15 
D 20 20 20 25 

…¬ÛÈÛÛ 
  ¶Ûà˜Ûé …Û¸ÛéÅÛà ¾ÛÛÜÐü©Ûà Š¸ÛÁõ¬Ûà ÜÍ¬ÛÁõ …ÛµÛÛÁõ¶Ûà Áõà©Ûé …¶Ûé ¸ÛÁ×õ¸ÛÁõà©Û …ÛµÛÛÁõ¶Ûà Áõà©Ûé ÍÛæ˜Ûï…Û×ïõ 

ÉÛÛéµÛÛé : 
ÈÛÌÛÙ 1983 1984 1985 1986 1987 1988 1989 1990 1991 1992 
½ÛÛÈÛ 
(` ¾ÛÛ×) 9 11 13 14 16 17 19 20 21 23 

 
 (¼Û) ÍÛæ˜Ûïõ…Û×ïõ …é¤øÅÛé ÉÛä× ? ©Ûé¶ÛÛ ÅÛ“Û¨ÛÛé ›÷¨ÛÛÈÛÛé. 4 
              …¬ÛÈÛÛ 
  ÍÛæ˜Ûïõ…Û×ïõ ¾ÛÛ¤éø¶Ûà ÜÍ¬ÛÁõ …ÛµÛÛÁõ¶Ûà Áõà©Û ÍÛ¾Û›ÛÈÛÛé. 
 
 (ïõ) ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ½ÛÛÈÛ¶ÛÛé ÍÛæ˜Ûïõ…Û×ïõ ÉÛÛéµÛÛé : 3 

½ÛÛÈÛ : 200 300 400 500 600 
½ÛÛÁõ : 5 4 3 2 1 

…¬ÛÈÛÛ 
  ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà œ÷ÈÛ¶Û Ü¶ÛÈÛÛÙÐü¶ÛÛé ÍÛæ˜Ûïõ…Û×ïõ ÉÛÛéµÛÛé : 

ÈÛÍ©Ûä …Û×ïõ ½ÛÛÁõ (I) 
ïõÛ¸Û¦ø 1000 50 
½ÛÛ¦ä×ø 1500 200 
¼ÛÇ©Û¨Û 1000 100 
¸ÛÁõ˜ÛæÁõ¨Û 1700 60 

 
3. (…) ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ¸ÛÛ×˜Û ÈÛÌÛÙ¶Ûà ˜ÛÜÅÛ©Û ÍÛÁéõÁõÛÉÛ ÅÛˆ ÈÛÅÛ¨Û ÉÛÛéµÛÛé. …¶Ûé ÈÛÅÛ¨Û¶Ûé …ÛÅÛé”Û¸ÛªÛ 

¸ÛÁõ þùÉÛÛÙÈÛÛé :   7 
ÈÛÌÛÙ ÍÛæ˜Ûïõ…Û×ïõ ÈÛÌÛÙ ÍÛæ˜Ûïõ…Û×ïõ 

1985 80 1991 84 
1986 84 1992 88 
1987 80 1993 80 
1988 88 1994 100 
1989 98 1995 280 
1990 92 1996 96 

  1997 92 
…¬ÛÈÛÛ 
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  ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà Š¸ÛÁõ¬Ûà ˜ÛÛÁõ ÈÛÌÛÙ¶Ûà ˜ÛÜÅÛ©Û ÍÛÁéõÁõÛÉÛ ÅÛˆ ÈÛÅÛ¨Û ÉÛÛéµÛÛé …¶Ûé ÈÛÅÛ¨Û¶Ûé …ÛÅÛé”Û¸ÛªÛ 
¸ÛÁõ þùÉÛÛÙÈÛÛé : 

ÈÛÌÛÙ ÍÛæ˜Ûïõ…Û×ïõ ÈÛÌÛÙ ÍÛæ˜Ûïõ…Û×ïõ 
1991 71 1997 82 
1992 63 1998 123 
1993 74 1999 86 
1994 121 2000 79 
1995 78 2001 88 
1996 70 2002 132 

 (¼Û) ÈÛÅÛ¨Û ¾ÛÛ¸ÛÈÛÛ¶Ûà ˜ÛÜÅÛ©Û ÍÛÁéõÁõÛÉÛ¶Ûà Áõà©Û ÍÛ¾Û›ÛÈÛÛé. 4 
    …¬ÛÈÛÛ 
  ÍÛÛ¾ÛÛÜýÛ÷ïõ ËÛé¨Ûà¶Ûä× ¸Ûè¬¬ÛïõÁõ¨Û ÍÛ¾Û›ÛÈÛÛé. 
 (ïõ) ¶Ûà˜Ûé¶Ûà ÍÛÛ¾ÛÛÜýÛïõ ËÛé¨Ûà ¾ÛÛ¤éø ¾ÛÛéÍÛ¾Ûà ÍÛæ˜Ûïõ…Û×ïõ ÉÛÛéµÛÛé : 3 

ÈÛÌÛÙ Q1 Q2 Q3 Q4 
1997 4.7 3.1 4.3 4.5 
1998 5.7 6.9 4.9 4.6 
1999 5.0 6.1 5.3 4.1 

    …¬ÛÈÛÛ 
  ÍÛ¾Û›ÛÈÛÛé : ÍÛÛ¾ÛÛÜýÛ÷ïõ ËÛé¨Ûà …¶Ûé ÈÛÅÛ¨Û 
 
 
4. (…) ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ¼Ûé ÉÛÐéüÁõÛé A …¶Ûé B ¾ÛÛ¤éø ÍÛÛ¾ÛÛ¶ýÛ …¶Ûé ¸Ûó¾ÛÛÜ¨Û©Û ¾Ûè©ýÛäþùÁõ¶Ûà •Û¨Û©ÛÁõà 

ïõÁõÛé :    7 
A ÉÛÐéüÁõ B ÉÛÐéüÁõ 

‹¾ÛÁõ (ÈÛÌÛÙ¾ÛÛ×) 
ÈÛÍ©Ûà  ¾Ûè©ýÛä ÈÛÍ©Ûà ¾Ûè©ýÛä 

10¶Ûà ¶Ûà˜Ûé 20,000 600 12,000 372 
10 – 20 12,000 240 30,000 660 
20 – 40 50,000 1,250 62,000 1,612 
40 – 60  30,000 1,050 15,000 525 
60 ¬Ûà ÈÛµÛä 10,000 500 3,000 180 

…¬ÛÈÛÛ 
  ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ÍÛÛ¾ÛÛ¶ýÛ ¸Ûó›÷¶Û¶ÛþùÁõ (GFR) ÜÈÛÜÉÛÌ¤ø ¸Ûó›÷¶Û¶ÛþùÁõ (SFR) …¶Ûé ïäõÅÛ 

¸Ûó›÷¶Û¶ÛþùÁõ (TFR) ÉÛÛéµÛÛé : 
‹¾ÛÁõ (ÈÛÌÛÙ¾ÛÛ×) ÍªÛà…Ûé¶Ûà ÍÛ×”ýÛÛ (Ðü›ÛÁõ¾ÛÛ×) ïäõÅÛ ›÷¶¾Û 

15 – 19 16 – 0 260 
20 – 24 16 – 4 2244 
25 – 29 15 – 8 1894 
30 – 34 15 – 2 1320 
35 – 39 14 – 8 916 
40 – 44 15 – 0 280 
45 – 49 14 – 5 145 

 (¼Û) ÍÛ¾Û›ÛÈÛÛé : ÍÛÛ¾ÛÛ¶ýÛ ¸Ûó›÷¶Û¶ÛþùÁõ, ¸Ûó¾ÛÛÜ¨Û©Û ¾Ûè©ýÛäþùÁõ 4 
    …¬ÛÈÛÛ 
  ÍÛ¾Û›ÛÈÛÛé : ïäõÅÛ ¸Ûó›÷¶Û¶ÛþùÁõ, ÍÛÛþùÛé ¾Ûè©ýÛäþùÁõ 
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 (ïõ) ÈýÛÛ”ýÛÛ …Û¸ÛÛé : ›÷¶¾ÛþùÁõ, ¾Ûè©ýÛäþùÁõ 3 
    …¬ÛÈÛÛ 
  ÈýÛÛ”ýÛÛ …Û¸ÛÛé : ÅÛ•¶ÛþùÁõ, ¼ÛÛÇ ¾Ûè©ýÛäþùÁõ 
 
5. ¶Ûà˜Ûé¶Ûà ”ÛÛÅÛà ›÷•ýÛÛ ¸ÛæÁõÛé :  14 
 (1) ¶Û¾Ûæ¶ÛÛ ³ùÛÁõÛ ïõÁéõÅÛà ©Û¸ÛÛÍÛ …é¤øÅÛé _______. 
  (…) ÍÛ¾ÛÜÌ¤ø ©Û¸ÛÛÍÛ (¼Û) Ü¶ÛþùÉÛÙ¶Û ©Û¸ÛÛÍÛ 
 

 (2) Ü¶ÛþùÉÛÙ ¸ÛÍÛ×þù ïõÁõÈÛÛ¶Ûà ¾Ûä”ýÛ _______ Áõà©ÛÛé ™öé. 
  (…) …éïõ  (¼Û) ¼Ûé (ïõ) ªÛ¨Û 
 

 (3) ›÷é Ü¶ÛþùÉÛÙ¾ÛÛ× ÍÛ¾ÛÜÌ¤ø¶ÛÛ ¸Ûó©ýÛéïõ …éïõ¾Û¶Ûé ¸ÛóÈÛéÉÛÈÛÛ¶Ûà ÍÛ¾ÛÛ¶Û ©Ûïõ …Û¸ÛÈÛÛ¾ÛÛ× …ÛÈÛé ©Ûé¶Ûé _______ 
ïõÐéü ™öé. 

  (…) ýÛþù˜™ö Ü¶ÛþùÉÛÙ¶Û (¼Û) Í©ÛÜÁõ©Û Ü¶ÛþùÉÛÙ¶Û 
 

 (4) Ü¶ÛþùÉÛÙ _______ Áõà©Ûé ÅÛˆ ÉÛïõÛýÛ ™öé. 
  (…) …éïõ  (¼Û) ¼Ûé (ïõ) ªÛ¨Û 
 

 (5) ÜºõÉÛÁõ¶ÛÛé ÍÛæ˜Ûïõ…Û×ïõ = _______. 
  (…) L × P  (¼Û) L/P (ïõ) W × P   
 

 (6) ÍÛæ˜Ûïõ…Û×ïõ = _______. 

  (…) 
 ∑LW
∑W   (¼Û) 

 ∑IW
∑W   

 

 (7) _______ Áõà©Û¾ÛÛ× ˜ÛÛÅÛä ÈÛÌÛÙ¶Ûà ¸ÛÐéüÅÛÛ×¶ÛÛ ÈÛÌÛÙ¶Ûé …ÛµÛÛÁõ ÈÛÌÛÙ ©ÛÁõàïéõ ÅÛéÈÛÛýÛ ™öé. 
  (…) ¸ÛÁ×õ¸ÛÜÁõ©Û …ÛµÛÛÁõ¶Ûà Áõà©Û (¼Û) ÜÍ¬ÛÁõ …ÛµÛÛÁõ¶Ûà Áõà©Û 
 

 (8) …ÛµÛÛÁõ ÈÛÌÛÙ¶Ûà ¸ÛÍÛ×þù•Ûà _______ Áõà©Ûé ¬Ûˆ ÉÛïéõ ™öé. 
  (…) …éïõ  (¼Û) ¼Ûé (ïõ) ªÛ¨Û 
 

 (9) ¤æ×øïõÛ•ÛÛÇÛ¶ÛÛ ¸ÛæÈÛÛÙ¶Ûä¾ÛÛ¶Û ¾ÛÛ¤éø _______ –Û¤øïõ Š¸ÛýÛÛé•Ûà ™öé. 
  (…) ¾ÛÛéÍÛ¾Ûà (¼Û) ˜Û’õàýÛ 
 

 (10) ¶ýÛæ¶Û©Û¾Û ÈÛ•ÛÛë¶Ûà Áõà©Û _______ ™öé. 
  (…) ˜ÛÜÅÛ©Û ÍÛÁéõÁõÛÉÛ (¼Û) •ÛÛÜ¨ÛÜ©ÛýÛ Áõà©Û 
 

 (11) ˜ÛÜÅÛ©Û ÍÛÁéõÁõÛÉÛ¶Ûà •Û¨Û©ÛÁõà _______ ¶ÛÛ ÜÍÛ±ùÛ×©Û ¸ÛÁõ …ÛµÛÛÜÁõ©Û ™öé. 
  (…) ¾ÛµýÛïõ  (¼Û) ¾ÛµýÛÍ¬Û (ïõ) ¼ÛÐäüÅÛïõ 
 

 (12) ÈÛÅÛ¨Û ¶Û‘õà ïõÁõÈÛÛ¶Ûà _______ Áõà©ÛÛé ™öé. 
  (…) …éïõ  (¼Û) ¼Ûé (ïõ) ªÛ¨Û 
 

 (13) ïäõÅÛ ¸Ûó›÷¶Û¶ÛþùÁõ = _______. 
  (…) ∑SFRXi (¼Û) ∑TFRXi (ïõ) ∑SFR 
 

 (14) ¾Ûè©ýÛäþùÁõ¶ÛÛ ¸ÛóïõÛÁõÛé _______. 
  (…) ÍÛÛ¾ÛÛ¶ýÛ ¾Ûè©ýÛäþùÁõ …¶Ûé ¸Ûó¾ÛÛÜ¨Û©Û ¾Ûè©ýÛäþùÁõ 
  (¼Û) ïäõÅÛ ¾Ûè©ýÛäþùÁõ …¶Ûé ïõÛ˜ÛÛé ¾Ûè©ýÛäþùÁõ 
  (ïõ) ïäõÅÛ ¾Ûè©ýÛäþùÁõ …¶Ûé ¸Ûó¾ÛÛÜ¨Û©Û ¾Ûè©ýÛäþùÁõ 

____________ 
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Instructions :  (1) Figures to the right denotes marks. 
    (2) Simple calculator can be used. 
 
1. (a) A population is divided into three strata and the information regarding them is as 

follows :   7 
  N1 = 25   S1

2 = 25 
  N2 = 45   S2

2 = 30 
  N3 = 30   S3

2 = 20 
  Random samples obtained from these strata are as follows : 
  From first stratum : 12, 16, 18, 13, 11 
  From second stratum : 15, 16, 20, 20, 18, 25 
  From third stratum : 10, 12, 9, 11, 13 
  Find stratified mean and its variance. 
      OR 
  A population observations are divided into two strata, having observation 20 and 

30 respectively. The following are random samples drawn from the strata. 
  Sample from first stratum : 12, 15, 18, 23 
  Sample from second stratum : 16, 20, 24, 25, 30 
  Obtain the mean of stratified sample. 
 

 (b)  What is population and sample ? Explain with examples. 4 
      OR 
  In a population of 5000 units, variance is 5580. Random sample of size 300, 

without replacement can be taken from it. Obtained variance of sample mean. 
 

 (c) Describe benefit of sampling. 3 
      OR 
  What is stratified sample ? When it is to be selected ? 
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2. (a) Find Laspeyers, Passche and Fisher Index number from the following data. 7 
1995 2005 

Base Year Current Year Commodities 
Price 
(in `) 

Quantity 
(kg) 

Price 
(in `) 

Quantity 
(kg) 

A 20 8 40 6 
B 50 10 60 5 
C 40 15 50 15 
D 20 20 20 25 

OR 
  Find fix-base index number and chain-base index number for the following data : 

Year 1983 1984 1985 1986 1987 1988 1989 1990 1991 1992 
Price 
(in `) 9 11 13 14 16 17 19 20 21 23 

 
 (b) What is index number ? Describe it assumptions. 4 
                        OR 
  Explain fix-base method for the index number. 
 
 (c) Find price index number for the following data : 3 

Price : 200 300 400 500 600 
Weight : 5 4 3 2 1 

OR 
  Find cost of living index number for the following data : 

Item Weight Number (I) 
Clothes 1000 50 
Rent 1500 200 
Fuel 1000 100 
Miscellaneous 1700 60 

 
3. (a) Find trend by using 5 year’s moving average for the following data and plot trend 

on a graph paper.  7 
Year Index No. Year Index No. 
1985 80 1991 84 
1986 84 1992 88 
1987 80 1993 80 
1988 88 1994 100 
1989 98 1995 280 
1990 92 1996 96 

  1997 92 
OR 
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  Find trend by using four year’s moving average for the following data and plot 
trend on a graph paper. 

Year Index No. Year Index No. 
1991 71 1997 82 
1992 63 1998 123 
1993 74 1999 86 
1994 121 2000 79 
1995 78 2001 88 
1996 70 2002 132 

 
 (b) Explain the method of moving average for measuring the trend. 4 
    OR 
  Explain analysis of time series. 
 
 (c) Find seasonal index number for the following data : 3 

Year Q1 Q2 Q3 Q4 
1997 4.7 3.1 4.3 4.5 
1998 5.7 6.9 4.9 4.6 
1999 5.0 6.1 5.3 4.1 

    OR 
  Explain Time Series and Trend.   
 
 
4. (a) Calculate the crude and standardized death rates of the two cities A & B for the 

following data :  7 
City A City B Age (in years) Population Deaths Population Deaths 

Under 10 20,000 600 12,000 372 
10 – 20 12,000 240 30,000 660 
20 – 40 50,000 1,250 62,000 1,612 
40 – 60  30,000 1,050 15,000 525 
Above 60 10,000 500 3,000 180 

OR 
  Find GFR, SFR and TFR for the following data : 

Age (in Years) Number of Women Total Birth 
15 – 19 16 – 0 260 
20 – 24 16 – 4 2244 
25 – 29 15 – 8 1894 
30 – 34 15 – 2 1320 
35 – 39 14 – 8 916 
40 – 44 15 – 0 280 
45 – 49 14 – 5 145 

 
 (b) Explain : General Fertility rate, Standard death rate. 4 

OR 
  Explain : Total Fertility rate, Crude death rate. 
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 (c) Give definition : Birth-rate, Death-rate. 3 
          OR 
  Give definition : Marriage rate, Infant Mortality rate. 
 
5. Fill in the blanks :  14 
 (1) Enquiry made through sample is _______. 
  (a) Population enquiry (b) Sampling enquiry 
 
 (2) Methods of selecting sample are _______. 
  (a) one  (b) two (c) three 
 
 (3) The sample in which every units of population is given equal opportunity is 

_______. 
  (a) Random sampling (b) Stratified sampling 
 
 (4) _______ method sample are to be taken. 
  (a) one  (b) two (c) three 
 
 (5) Fisher’s Index number = _______. 
  (a) L × P  (b) L/P (c) W × P   
 
 (6) Index number = _______. 

  (a) 
 ∑LW
∑W   (b) 

 ∑IW
∑W   

 
 (7) In _______ method the previous year of the current year is taken as base year. 
  (a) chain base (b) fixed base  
 
 (8) Base year can be selected by _______ methods. 
  (a) one  (b) two (c) three 
 
 (9) _______ component is useful for short-term component. 
  (a) Seasonal (b) Cyclic 
 
 (10) Method of Least Square is _______. 
  (a) moving average (b) Mathematical  
 
 (11) Calculation of moving average based on_______ principle. 
  (a) Mean (b) Median (c) Mode  
 
 (12) The methods of determining the trend are _______. 
  (a) one  (b) two (c) three  
 
 (13) Total fertility rate = _______. 
  (a) ∑SFRXi (b) ∑TFRXi (c) ∑SFR 
 
 (14) Types of death rate are _______. 
  (a) CDR and SDR (b) TDR and CDR (c) TDR and SDR 
 

________ 
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